| General Info | |
|--------------|---|
| Number: | PROJECT NO. 70-23-01 |
| Description: | EASTBOUND SLOPE REPAIR |
| | M.P. 63.6 |
| | PERRYSBURG TOWNSHIP, WOOD COUNTY, OHIO |
| | |
| | |
| | |
| Deadline: | APRIL 18, 2023 @ 2:00 P.M. (EASTERN TIME) |

(Estimated Cost: \$1,250,000.00)

| Bids | |
|---|----------------|
| Business | Bid Total |
| Alan Stone Company Inc. | \$1,432,180.10 |
| Suburban Maintenance & Construction, Inc. | \$1,796,125.50 |

| ALAN STO | NE COMPANY | INC. | | | | |
|----------|-----------------|--|----------|---------|-------------|-------------|
| | NO. 70-23-01 (F | Ref. Nos. 1-60) | | | | |
| Ref. No. | Item No. | Description | Quantity | Units | Unit Price | Extension |
| 1 | IB. ART. 6 | PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND | 1.00 | LUMP | \$30,000.00 | |
| 2 | 201 | CLEARING AND GRUBBING, AS PER PLAN | 1.00 | LUMP | \$25,000.00 | |
| 3 | 202 | PAVEMENT REMOVED | 465.00 | SQ. YD. | \$22.00 | \$10,230.00 |
| 4 | 202 | CURB REMOVED | 383.00 | FOOT | \$2.50 | |
| 5 | 202 | GUARDRAIL REMOVED | 414.00 | FOOT | \$2.00 | \$828.00 |
| 6 | 202 | BRIDGE TERMINAL ASSEMBLY REMOVED | 2.00 | EACH | \$65.00 | |
| 7 | 202 | PIPE REMOVED, 24" AND UNDER | 149.00 | FOOT | \$14.00 | |
| 8 | 202 | CATCH BASIN REMOVED | 2.00 | EACH | \$2,000.00 | |
| 9 | 202 | FENCE REMOVED | 51.00 | FOOT | \$4.00 | \$204.00 |
| 10 | SP202 | PORTIONS OF STRUCTURE REMOVED | 1.00 | LUMP | \$15,000.00 | |
| 11 | 203 | EXCAVATION | 2,425.00 | CU. YD. | \$11.00 | |
| 12 | 203 | EMBANKMENT, AS PER PLAN | 3,674.00 | CU. YD. | \$4.00 | |
| 13 | 203 | BORROW, AS PER PLAN | 3,674.00 | CU. YD. | \$26.00 | \$95,524.00 |
| 14 | 204 | PROOF ROLLING | 1.00 | HRS. | \$400.00 | |
| 15 | 204 | EXCAVATION OF SUBGRADE | 250.00 | CU. YD. | | |
| 16 | 204 | EMBANKMENT, AS PER PLAN | 250.00 | CU. YD. | \$25.00 | |
| 17 | 302 | ASPHALT CONCRETE BASE, PG64-22, (449) | 80.00 | CU. YD. | \$270.00 | |
| 18 | SP304 | AGGREGATE BASE | 167.00 | CU. YD. | \$95.00 | |
| 19 | 407 | NON-TRACKING TACK COAT | 57.00 | GALLON | | |
| 20 | 441 | ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 | 17.00 | CU. YD. | | |
| 21 | 441 | ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (449) | 23.00 | CU. YD. | \$282.00 | |
| 22 | 507 | STEEL PILES, MISC.: W24X162, FURNISHED | 1,044.00 | FOOT | \$208.00 | |
| 23 | SP509 | EPOXY COATED REINFORCING STEEL, GRADE 60 | 282.00 | LB. | \$12.00 | |
| 24 | 510 | DOWEL HOLES WITH NONSHRINK , NONMETALLIC GROUT | 30.00 | EACH | \$78.00 | |
| 25 | SP511B | CLASS S CONCRETE, BARRIERS AND PAPAPETS, USING TYPE 1 CEMENT | 2.00 | CU. YD. | \$8,000.00 | |
| 26 | SP516B | SEALING OF CONSTRUCTION JOINTS | 2.00 | FOOT | \$657.00 | |
| 27 | 524 | DRILLED SHAFTS, 36" DIAMETER, AS PER PLAN | 1,056.00 | FOOT | \$111.00 | |
| 28 | 524 | DRILLED SHAFTS, MISC.: PLUG PILE, 36" DIAMETER, UNREINFORCED | 1,012.00 | FOOT | \$94.00 | |
| 29 | 601 | ROCK CHANNEL PROTECTION, TYPE C WITH FILTER, AS PER PLAN | 3.00 | CU. YD. | \$960.00 | |
| 30 | 601 | TIED CONCRETE BLOCK MAT WITH TYPE 1 UNDERLAYMENT | 2.00 | SQ. YD. | \$262.00 | |
| 31 | 605 | 6" SHALLOW PIPE UNDERDRAINS WITH GEOTEXTILE FABRIC | 383.00 | FOOT | \$25.00 | |
| 32 | 605 | 6" UNCLASSIFIED PIPE UNDERDRAINS | 50.00 | FOOT | \$42.00 | |
| 33 | 606 | GUARDRAIL, TYPE MGS WITH LONG STEEL POSTS | 388.00 | FOOT | \$31.50 | |
| 34 | 606 | MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1, USING LONG STEEL POSTS | 1.00 | EACH | \$3,720.00 | |
| 35 | 606 | MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 | 1.00 | EACH | \$595.00 | \$595.00 |
| 36 | 607 | FENCE, TYPE 47 | 51.00 | FOOT | \$63.50 | \$3,238.50 |
| 37 | 609 | ASPHALT CONCRETE CURB, TYPE 1, PG64-22 | 383.00 | FOOT | \$17.00 | |
| 38 | 611 | 6" CONDUIT, TYPE F FOR UNDERDRAIN OUTLETS | 50.00 | FOOT | \$28.00 | |
| 39 | 611 | PRECAST REINFORCED CONCRETE OUTLET | 1.00 | EACH | \$2,000.00 | |
| 40 | SP 611 | 12" CONDUIT, TYPE F, 707.33 | 141.00 | FOOT | \$131.00 | \$18,471.00 |

| 41 | SP 611 | CATCH BASIN, NO. CB-1 | 2.00 | EACH | \$9,000.00 | \$18,000.00 |
|----|---------|--|-----------|---------|--------------|--------------|
| 42 | SP 614 | MAINTAINING TRAFFIC, AS PER PLAN | 1.00 | LUMP | \$200,000.00 | \$200,000.00 |
| 43 | 619 | FIELD OFFICE, AS PER PLAN | 1.00 | LUMP | \$17,000.00 | \$17,000.00 |
| 44 | 620 | DELINEATOR, POST GROUND MOUNTED, AS PER PLAN | 1.00 | EACH | \$385.00 | \$385.00 |
| 45 | SP 623 | CONSTRUCTION LAYOUT SURVEY | 1.00 | LUMP | \$50,000.00 | \$50,000.00 |
| 46 | 624 | MOBILIZATION | 1.00 | LUMP | \$75,000.00 | \$75,000.00 |
| 47 | SP 626 | BARRIER REFLECTOR, TYPE A (WHITE) | 5.00 | EACH | \$30.50 | \$152.50 |
| 48 | 630 | REMOVAL OF OVERHEAD MOUNTED SIGN AND REERECTION, AS PER PLAI | 1.00 | EACH | \$7,630.00 | \$7,630.00 |
| 49 | 642 | EDGE LINE, 6", TYPE 1 (WHITE) | 0.07 | MILE | \$30,750.00 | \$2,152.50 |
| 50 | 659 | SOIL ANALYSIS TEST | 2.00 | EACH | \$50.00 | \$100.00 |
| 51 | 659 | TOPSOIL | 405.00 | CU. YD. | \$50.00 | \$20,250.00 |
| 52 | 659 | SEEDING AND MULCHING, CLASS 2 | 3,653.00 | SQ. YD. | \$1.10 | \$4,018.30 |
| 53 | 659 | COMMERCIAL FERTILIZER | 0.51 | TON | \$700.00 | \$357.00 |
| 54 | 659 | WATER | 20.00 | MGALLON | \$10.00 | \$200.00 |
| 55 | 670 | SLOPE EROSION PROTECTION MAT, TYPE A | 3,653.00 | SQ. YD. | \$2.60 | \$9,497.80 |
| 56 | 832 | EROSION CONTROL | 10,000.00 | EACH | \$1.00 | \$10,000.00 |
| 57 | 832 | STORM WATER POLLUTION PREVENTION PLAN | 1.00 | LUMP | \$10,000.00 | \$10,000.00 |
| 58 | SPECIAL | 12" PRECAST CONCRETE END SECTION | 2.00 | EACH | \$5,000.00 | \$10,000.00 |
| 59 | SPECIAL | SONIC NAP ALERT PROTECTION (SNAP) | 0.07 | MILE | \$75,000.00 | \$5,250.00 |
| 60 | 614ZP | ZONE PESON WITH ZONE VEHICLE | 2,160.00 | HOURS | \$85.00 | \$183,600.00 |

DEDUCT ALTERNATE CREDIT

| TEMPORA | RY ACCESS | |
|-------------|-------------------|---|
| Name | Include In Total? | Response |
| emporary Ac | No | No |
| T ALTERN | No | |
| | Total: | |
| | | TOTAL BID AMOUNT (REF. NO. 1 - REF. NO. 60) |

Total:

\$1,432,180.10

N/A

| SUBURBA | | CE & CONSTRUCTION | | | | |
|----------|-----------------|--|----------|---------|-------------|-------------|
| PROJECT | NO. 70-23-01 (R | Ref. Nos. 1-60) | | | | |
| Ref. No. | Item No. | Description | Quantity | Units | Unit Price | Extension |
| 1 | IB. ART. 6 | PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND | 1.00 | LUMP | \$45,000.00 | |
| 2 | 201 | CLEARING AND GRUBBING, AS PER PLAN | 1.00 | LUMP | \$75,000.00 | |
| 3 | 202 | PAVEMENT REMOVED | 465.00 | SQ. YD. | \$35.00 | |
| 4 | 202 | CURB REMOVED | 383.00 | FOOT | \$7.50 | |
| 5 | 202 | GUARDRAIL REMOVED | 414.00 | FOOT | \$5.00 | |
| 6 | 202 | BRIDGE TERMINAL ASSEMBLY REMOVED | 2.00 | EACH | \$750.00 | |
| 7 | 202 | PIPE REMOVED, 24" AND UNDER | 149.00 | FOOT | \$15.00 | |
| 8 | 202 | CATCH BASIN REMOVED | 2.00 | EACH | \$750.00 | |
| 9 | 202 | FENCE REMOVED | 51.00 | FOOT | \$12.00 | |
| 10 | SP202 | PORTIONS OF STRUCTURE REMOVED | 1.00 | LUMP | \$25,000.00 | |
| 11 | 203 | EXCAVATION | 2,425.00 | CU. YD. | \$55.00 | |
| 12 | 203 | EMBANKMENT, AS PER PLAN | 3,674.00 | CU. YD. | \$5.00 | |
| 13 | 203 | BORROW, AS PER PLAN | 3,674.00 | CU. YD. | \$50.00 | |
| 14 | 204 | PROOF ROLLING | 1.00 | HRS. | \$85.00 | |
| 15 | 204 | EXCAVATION OF SUBGRADE | 250.00 | CU. YD. | \$45.00 | |
| 16 | 204 | EMBANKMENT, AS PER PLAN | 250.00 | CU. YD. | \$45.00 | |
| 17 | 302 | ASPHALT CONCRETE BASE, PG64-22, (449) | 80.00 | CU. YD. | \$375.00 | |
| 18 | SP304 | AGGREGATE BASE | 167.00 | CU. YD. | \$85.00 | ' ' |
| 19 | 407 | NON-TRACKING TACK COAT | 57.00 | GALLON | | |
| 20 | 441 | ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG64-22 | 17.00 | CU. YD. | | |
| 21 | 441 | ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (449) | 23.00 | CU. YD. | \$450.00 | |
| 22 | 507 | STEEL PILES, MISC.: W24X162, FURNISHED | 1,044.00 | FOOT | \$175.00 | |
| 23 | SP509 | EPOXY COATED REINFORCING STEEL, GRADE 60 | 282.00 | LB. | \$5.00 | |
| 24 | 510 | DOWEL HOLES WITH NONSHRINK , NONMETALLIC GROUT | 30.00 | EACH | \$30.00 | |
| 25 | SP511B | CLASS S CONCRETE, BARRIERS AND PAPAPETS, USING TYPE 1 CEMENT | 2.00 | CU. YD. | \$10,000.00 | |
| 26 | SP516B | SEALING OF CONSTRUCTION JOINTS | 2.00 | FOOT | \$50.00 | |
| 27 | 524 | DRILLED SHAFTS, 36" DIAMETER, AS PER PLAN | 1,056.00 | FOOT | \$170.00 | |
| 28 | 524 | DRILLED SHAFTS, MISC.: PLUG PILE, 36" DIAMETER, UNREINFORCED | 1,012.00 | FOOT | \$130.00 | |
| 29 | 601 | ROCK CHANNEL PROTECTION, TYPE C WITH FILTER, AS PER PLAN | 3.00 | CU. YD. | \$500.00 | |
| 30 | 601 | TIED CONCRETE BLOCK MAT WITH TYPE 1 UNDERLAYMENT | 2.00 | SQ. YD. | \$500.00 | |
| 31 | 605 | 6" SHALLOW PIPE UNDERDRAINS WITH GEOTEXTILE FABRIC | 383.00 | FOOT | \$25.00 | |
| 32 | 605 | 6" UNCLASSIFIED PIPE UNDERDRAINS | 50.00 | FOOT | \$25.00 | |
| 33 | 606 | GUARDRAIL, TYPE MGS WITH LONG STEEL POSTS | 388.00 | FOOT | \$30.00 | |
| 34 | 606 | MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1, USING LONG STEEL POSTS | 1.00 | EACH | \$2,800.00 | |
| 35 | 606 | MGS BRIDGE TERMINAL ASSEMBLY, TYPE 2 | 1.00 | EACH | \$1,300.00 | |
| 36 | 607 | FENCE, TYPE 47 | 51.00 | FOOT | \$95.00 | |
| 37 | 609 | ASPHALT CONCRETE CURB, TYPE 1, PG64-22 | 383.00 | FOOT | \$25.00 | |
| 38 | 611 | 6" CONDUIT, TYPE F FOR UNDERDRAIN OUTLETS | 50.00 | FOOT | \$25.00 | |
| 39 | 611 | PRECAST REINFORCED CONCRETE OUTLET | 1.00 | EACH | \$500.00 | |
| 40 | SP 611 | 12" CONDUIT, TYPE F, 707.33 | 141.00 | FOOT | \$115.00 | \$16,215.00 |

| 41 | SP 611 | CATCH BASIN, NO. CB-1 | 2.00 | EACH | \$7,500.00 | \$15,000.00 |
|----|---------|--|-----------|---------|--------------|--------------|
| 42 | SP 614 | MAINTAINING TRAFFIC, AS PER PLAN | 1.00 | LUMP | \$150,000.00 | \$150,000.00 |
| 43 | 619 | FIELD OFFICE, AS PER PLAN | 1.00 | LUMP | \$6,000.00 | \$6,000.00 |
| 44 | 620 | DELINEATOR, POST GROUND MOUNTED, AS PER PLAN | 1.00 | EACH | \$100.00 | \$100.00 |
| 45 | SP 623 | CONSTRUCTION LAYOUT SURVEY | 1.00 | LUMP | \$50,000.00 | \$50,000.00 |
| 46 | 624 | MOBILIZATION | 1.00 | LUMP | \$75,000.00 | \$75,000.00 |
| 47 | SP 626 | BARRIER REFLECTOR, TYPE A (WHITE) | 5.00 | EACH | \$50.00 | \$250.00 |
| 48 | 630 | REMOVAL OF OVERHEAD MOUNTED SIGN AND REERECTION, AS PER PLAI | 1.00 | EACH | \$30,000.00 | \$30,000.00 |
| 49 | 642 | EDGE LINE, 6", TYPE 1 (WHITE) | 0.07 | MILE | \$20,000.00 | \$1,400.00 |
| 50 | 659 | SOIL ANALYSIS TEST | 2.00 | EACH | \$100.00 | \$200.00 |
| 51 | 659 | TOPSOIL | 405.00 | CU. YD. | \$100.00 | \$40,500.00 |
| 52 | 659 | SEEDING AND MULCHING, CLASS 2 | 3,653.00 | SQ. YD. | \$3.00 | \$10,959.00 |
| 53 | 659 | COMMERCIAL FERTILIZER | 0.51 | TON | \$500.00 | \$255.00 |
| 54 | 659 | WATER | 20.00 | MGALLON | \$1.00 | \$20.00 |
| 55 | 670 | SLOPE EROSION PROTECTION MAT, TYPE A | 3,653.00 | SQ. YD. | \$3.00 | \$10,959.00 |
| 56 | 832 | EROSION CONTROL | 10,000.00 | EACH | \$1.00 | \$10,000.00 |
| 57 | 832 | STORM WATER POLLUTION PREVENTION PLAN | 1.00 | LUMP | \$5,000.00 | \$5,000.00 |
| 58 | SPECIAL | 12" PRECAST CONCRETE END SECTION | 2.00 | EACH | \$1,500.00 | \$3,000.00 |
| 59 | SPECIAL | SONIC NAP ALERT PROTECTION (SNAP) | 0.07 | MILE | \$20,000.00 | \$1,400.00 |
| 60 | 614ZP | ZONE PESON WITH ZONE VEHICLE | 2,160.00 | HOURS | \$100.00 | \$216,000.00 |

DEDUCT ALTERNATE CREDIT

Total: \$1,796,625.50 \$500.00

| TEMPORA | RY ACCESS | |
|------------|-------------------|---|
| Name | Include In Total? | Response |
| mporary Ac | No | Yes |
| T ALTERN | No | \$500.00 |
| | Total: | |
| | | TOTAL BID AMOUNT (REF. NO. 1 - REF. NO. 60) |